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Mote that all the answers should be written on the answer sheet.

1. Fill in the following blanks with the correct answers.
Q) Cx+1) -4 -3n=[ |
@) (209 s x (=== 1
(3) One solution of the quadratic equation x° + px+12=0 is 3, then p -—.
and another solution is 2
(4) When x+y=3 and xy=1,then x*+y° = and x° +y° =|E

(5) The largest is among v2. 33, and 44, and the smallest is

@) among cos45 , tan30 . and sinl20 .

(6) There are six points on a circumference. Make as many triangles as possible
using three points among them, then the number of the friangles that can be made
s |

(7) The 20th term in a progression: 1. 4. 7. 10, -+ is @ and the sum from the
1st term to the 20th term is @

(8) The inradius of an equilateral triangle whose one side length is 2. is [

(9) The equation for the tangent line at point (1.0} in the curve y = Ix® —dx+1 is,

¥ =. and the area surrounded by the curve, the tangent line and the

v-axis is @



2. On the plane xy, there are three points: 4(3.4), B(2,2), C(6.0).

Fill inn the following blanks with the correct answers.

(1) The coordinates of the center of a circle on which points, 4, B, and € are located,

are | [ o L [ 2 | ). and the radis of this cirele is @

(2) The scalar product of two vectors BA-BC =]

@ zaBC=[_ 1°.

(4) The distance from point B to the straight line AC is[ |

(5) When point L is the intersection of bisector of £ABC and side AC | then
Av:re=1f 1]

© BL @ JBi+[ @ JBC.

3. On the plane xv, graphs of parabola y=ax’ +bx+¢ and straight line y =dx+e
are shown in the figure below. Judge whether the following expressions are larger

than, smaller than or equal to zero. Fill in the blanks with the correct marks: = |

= =

Wal o (2) b 0 b

(38) d 0 (4) b* —4ac | 0 y=dcte
[ ] ¢ [ i

(5) a+b+e !:l i 6) a—bh+e :l 0 o X

(7 4a+2b+c o ®e—e[  Jo

y=ar +hr+o



